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Reg. No.

V Scmester B.A./B.Sc. Degree Examination, March/April - 202
ECONOMICS
Indian Economics
(CBCS Semester Scheme 2019-20 onwards Regular (F+R))
Paper : V :
Time : 3 Hours ' Maximum Marks : 100

Instructions to Candidates:
1) Answer should be written in English or Kannada.
2) Part-A should be continuous.
3) Answer should be precise.

PART - A (Conceptual)
Pl -

Answer any 10 of the following in 2 to 3 sentences each. Each question carries
2 marks. ' (10x2=20)

‘RYTE0R B IINER 2-3 ENISY D0eTTo3 LIoN. T FIN 2 oI
1. a) What is meant by colonial economy?
THBBTE SRFTS UPFITY Ved.
b) Give the meaning of occupational distribution.
Banens QSTEBOD BTFDI), ded.
c) -What is economic planning ?
BSOF3 3RS 0BT ?
d) Give the meaning of life expectancy.
kAR abeioda SPFSI), deB. .
e) What is rural credit ?
79,0006 Mo® DOTTEId 7
f) What is meant by Green Revolution ?
TAD 52,0800 OPFISY, eR.
[P.T.O.
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g) What are Regional Rural Banks ?
52,36dT 119,069 23, 080N D0TTERD 7

h)  Expand NABARD.
NABARD 2308.

i)  Give the meaning of industrialisation.
310es0E REFESY ded.

j)  What is meant by public sector ?
AOTFTAT BT eﬁc;srdagt Qed.

k) Expand MSME.
MSME %03 _

1)  What is meant by industrial policy ?
g odes QeS80 wqﬁrwmq e&.

PART - B (Analytical)
won - W
Answer any Four of the following in about 15-20 sentences each. Each question
carries S marks. ‘ . ' (4x5=20)
CIRYToTR T, T NIR 15-20 [ NER AeTToZ Lv3dR. T, TZNR 5 L0TNL.
2. Write a brief note on land reforms.
B RoTTEORY, B0 E5Ted wB0WD.
3. Write a note on rural-urban migration.
M, - SRONY BoHolRy WO LD WD,
4. Briefly explain the role of agriculture in India.
POTBTY, TR0 T, NOFToN DTOA. ,
5. . What are the defects of agricultural marketing in India.
WoUSEY, Fdu [RTVTLIOD BreEnNTIR) 2
6.  Write a note on MRTP Act.
MRTP 32030D i} 83383 wBc00.
7. Briefly explain some major services in India.
POBRAS F0R) TyS0D RSNy BogTaon Dm0,
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10.

11.

12.

13.

PART - C (Descriptive)
o - &

Answer any Four of the following not exceeding four pages each. Each questlon
carries 15 marks. - (4%x15=60)

CIRRmaTR T BINOR 4 Yurer Qoedmed evZor. T3 TIRER 15 GBI,
Discuss the mam features of Indian Economy i
ADlerIAl tﬁ&)r“éodo aSa’méD TN, WA

Discuss the problems of overpopulatxon in India.

RT3, BHET &IR0as, 0 REOR,NTT), W3e3FR.

Explain the various factors determining agricultural productivity.

B& NZTFICDT) IFFODT DG ©03NIIY, D[0K.

Explain the role of public sector enterprises in India.

%J0030Q, ToBFHIT BT WVBFONG TB,FTY, HTOA.

Discuss the problems of small scale and college. industries in India.

TPV, Ay, oK) & §mdedod RF, TR W2

Explain the Industrial Policy of 1991.

1991 O grodTe QeSO D[OA.
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Reg. No.

ECONOMICS
Financial Economics
(CBCS Scheme (F+R) 2019-20)
Paper : VI
Time : 3 Hours
Instructions to Candidates:
1) Answer should be written either in English or Kannada.
2) Answer to Part -A should be continuous.
3) Answer should be precise.

PART - A
R - @

Answer any Ten of the following. Each carries 2 marks.
CRITTTR BB IZNeR GVBOR. B3adRomd FBIN 2 ©oFn.
1. a) What is Joint Stock Company ?
TRTD WOTBTOP xom; Q0TTER ?
b) What is financial management ?
DETORD TJFBH 0TTERD ?
c) What are debentures ?
FROTZ,TIF 0T 2
d) What is stock dividend ?
ZeTO CRLIR0T OTTERD ?
e) Define investment.
TRETODTY, 539,859, DR.
f) What is HUF ?
HUF »owdesd 9
g) Name any two financial services.

BRJYTOTCR DT BEFFOAT BeINTIY S0,

Maximum Marks : 100

(10x2=20)

[P.T.O.
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h)  What is capital market ?
LT Bre0BL, QOTBERD ?
i)  Why RBI is called as ‘Banker’s Bank’ ?
2T, 0BONY 139,080 03> ORTJF 29,08, ¥ Lisleselopla et Al
J)  Expand IDBI and SEBI.
IDBI monie SEBI oo, D30
k) What is call-money market ?
TOBEIW BRTIBE 20EBed ?
1)  What is liquidation ?
BT0P Q0TTe ?

PART - B
on -
Answer any Four of the following. Each question carries 5 marks. (4%5=20)

CIRRYTTTR T BIR wuZT WO, B3 TIN5 SosN.
2. Explain the need for study of financial economics.
BEOTRAR OBFINT ©T,0IT eﬁasdsé’ﬁem;i DT
3. Write a note on balance sheet.
CA TRRMWOT T 30030 T WwIcWD.
4.  Explain the various types of dividend.
TLTOBT DT T,TIONTY, D[OA,
5.  Explain the importance of financial services,
BEFOAT XY DOBTHTY, DTOA.
6.  Explain the importance of non-banking finance companies.
mﬁoéeesc TEITOAR m‘oz‘gpmi meos:)sa’o:bg% 3@;;,
7. Explain the differences between money and capital markets.

TEIT WRCITL ToNe WOBTHT mma%ojo SROF Aty 3533‘,‘2'37'{@?13 QJOA.
=
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10.

11.

12.

13.

PART - C
won - A

Answer any Four of the following. Each question carries 15 Marks.  (4x15=60)
IRFTOTCR W, JFAeR G033 wSowd. F,303R0md BN 15 S0sNRW.

Explain different forms of business organisation.

DA VeSO YVTED xo%ﬁ¢Q DWOA.

Examine the goals of financial management.

BEITIRO ATFHEOD AT MOONTFR) T0deDA.

Explain the various determinants of dividends.

SNPOIT NG amrdﬁﬁe;’a% NTWOA.

Discuss the role of mutual funds in promoting investment.
BRABODY, LVZRR[Y, WORT AP TF,BY 0B WA
Explain the composition of Indian Capital Market.

2030 0By SRTBEIoD BoodpeEs D[OR.

Explain the objectives and functions of SEBI.

SEBI o evg3eansh S02) 500 nesy w:mA.
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ECONOMICS
Mathematical Methods for Economists
(CBCS Scheme (F+R) 2019-20 Onwards)
Paper : VI
Time : 3 Hours Maximum Marks : 100

Instructions to Candidates:
1) Answers must be written either in Kannada or English.
2) Answers to Part A should be continuous.
3)  Answers should be precise.

PART - A
PR - @
Answer any Ten of the following. Each question carries 2 marks. (10x2=20)
BYNS cIRPYwmdR 10 FIRer eugdr. =8 BIN 2 oFnw.
1. a) Whatis a variable?
BOT Q0TTEIO?
b) What is linear function?
Bedeodd WOWT QOTTERO?
c) What is a parameter?
QODT0T 0TTER?
d) What are integers?
TPFTIF 0T DOTTEI?
e) Solve : 4x-18=26
WRY : 4x-18=26
f)  Given the total cost C=100g*10q, find the average cost AC when =20
wtd), SdE C=100¢*-10q snmn B =20 ShTR, Boe%d 3, AC &)
F0r0&%B0WD.

[P.T.O.
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g) What is price elasticity of demand?
33 Ie@BOD %@mﬁﬁ% DOTBEI0?
h) What is a matrix?
09,855 DOTTERO?

- g B
i) If y=x*, find o

Ey
y=x' shwan, Er 8), 0T &R0,

j)  What is marginal revenue?
RCTIOZ T30 R0TTER?

k)  What is consumer’s surplus?
e9R0L3ReN03D QTS DOTTERD?

1)  Anil buys 5 pants and 4 shirts and Sunil buys 6 pants and 7 shirts. Show this
in the form of a square matrix.
AR 5 T, 0LINYRY FoBY 4 BOFTIYRY TN ROVWTD 6 T3, 0L1DNTRY F 7
BeOFAYRY DOORTIT. AT WBET B[R, F TRITY, T[ROITRA.

PART - B
on - W
Answer any Four of the following. Each question carries 5 marks. (4%x5=20)

FINT cIRFTTR 4 TINIR GUZOR. T3 T[IR 5 LosnD.
2. If U=f(x) and V=g(x), then prove that
E(UV) _Eu Ev
Ex Ex Ex
U=f(x) sorie V=g(x) snN3Q,
E(UY)_Eu Ev
Ex Ex Ex
3. If the demand function is P=20-5q. find the price elasticity of demand when P=10
:;@;o;a wowsxy) P=20-5q SATY P=10 shmon, ¥¢ Peadon A4S TRTTSTR Fowd

Q0T TOOA.
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4. Write a note on the types of variables.
BOTE A3 uﬁmx& B0 wwwsé WToWD.

5. Draw the following points in a graph sheet:
A(6,2) ; B(-5,1) ; C(-4,-4) ; D(3,-2)
MR,F TYoQ, 33 IYNT TOVOLRYRY ST,
A(6,2) ; B(-5,1) ; C(-4,-4) ; D(3,-2)

1
6. If y=4x+9, find (1‘;7)when x=2.
y=4x+9 snmnR =H8Y =2 shman L) 9T TOTD &BOWD.
= &  Ex 2
1
7. Prove that MR = AR (1—;).

1
MR = AR (1—;) DOWTBY, TR

PART - C
won - X
Answer any Four of the following. Each questions carries 15 Marks. (4x15=60)
FONS cInRRYTTTRe 4 JINen ww3dA. =3 BIR 15 ©osnsb.
8. Solve for x, y and z using Cramer’s rule:
2x+3y+5z=11
S5x+2y+7z=15
4x+3y-z=10
B,63300¢ QOBTITIY, W X, Y DR z T TRYNFI), TOBO LBOWD.
2x+3y+5z=11
Sx+2y+7z=15

4x+3y-z=10
The demand law of two related commodities are Q =200+2P-5P, and
Q,=300+3P,-4P,. Find 1,;, 1,5, M, and 1,,. Show whether the goods are substitutes

or complement.
S0 Fowoh3 Xosony t3e@s wWowsnw &ensd. Q=200+2P -5P, == Q,=300+3P -

4P,. M,y Ny My SOB Ny, FOW R0 o) B JoBNRYe ST PRTT AoBONGe

DOTD SPA.
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10.

11.

12.

13.

Given the demand P =25-Q* and supply P=(Q+1)* under perfect competition, find
the consumer’s surplus and producer’s surplus.
TOJPror abadaﬁéjwoﬂmoddel Jetgod wowsy P =25-Q* monn —-‘c,gpcgiw’od) 20T
P=(Qt1) ond. osbgieenod Qomdd @03y svzorsdad Qrbd3ods) 5o LB0.
The longrun cost function of a firm is C=q’-8q?+20q. Prove that MC=AC at the
minimum point of AC.
2,00 QU B BEFray SPn Worssy C=¢*-8¢+20q &N, TooRD ey TN
MC=AC 20T modA.
The demand and supply functions of a commodity in a market are D=36-2P and
S= -12+6P. Find the equilibrium price and quantity further, if the government imposes
a specific tax of Rs.2 per unit and a subsidy of Re.l, find the new equilibrium values
of price and quantity.
mwﬁ%omoddq WO XTST WeBE Wowsxy) D=36-2P =02 FRIFoD Wy

= -12+6P ©NT. BTT FEROS WY F) WWZFHI), FOBO LROWD. XFFTR) Te.2
002 ©[,8 SWAN JOFF, FORCIIY, DRATIN Z) de.1 o3 AHooTT[EY, Ve
WBDE BRX FZERCOT NS ST WBINIR), 0B HLBCWD.
A monopolist faces a demand function as P=400-4Q and his cost function is
C=50+28Q. Calculate the price and output when his profit is maximum.
DT, BPTFIIR0TTY, ey WUEEES edToDd wowssy P=400-4Q =By Huw
Wowdwy C=50+28Q AT, 530 nog eoIRTY TITN T3 52;3 =) ety m#a;%
B0 &HBOD.




